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Mrs. Nadworny
Thermal Energy Review #2
Directions – Answer the following questions.  
1. Samples of lead, platinum, silver and tungsten each have a mass of 1.0 kilogram and an initial temperature of 20.0C. If 10. kilojoules of heat are added to each sample, which sample will experience the smallest increase in temperature?

	(A) silver, because it has the highest specific heat

	(B) platinum, because it has the lowest heat of vaporization

	(C) lead, because it has the lowest heat of fusion

	(D) tungsten, because it has the highest melting point


2. Equal masses of aluminum and copper, both at 00C, are placed in the same insulated can of hot water. Which statement describes this system at equilibrium (the net exchange of internal energy is zero)?

	(A) The aluminum has a higher temperature than the copper and water.

	(B) The aluminum, copper and water have the same temperature.

	(C) The copper has a higher temperature than the aluminum and water.

	(D) The water has a higher temperature than the aluminum and copper.


3. Which substance remains a liquid over the smallest temperature range?

	(A) lead 
	(B) copper
	(C) iron
	(D) silver


4. In a certain process, 400 joules of heat are added to a system and the system simultaneously does 100 joules of work. The change in internal energy of the system is

	(A) 500 J 
	(B) 300 J
	(C) 400 J
	(D) 100 J


5. If the volume of a gas is decreased while temperature is constant, which will occur?
	(A)  The average kinetic energy of the molecules of the gas will increase.

	(B)  The average kinetic energy of the molecules of the gas will decrease.

	(C)  The mass of the gas will decrease

	(D)  The pressure of the gas will increase

	(E) The pressure of the gas will decrease.


6. Show all of you work with the GUESS method on the back of this page for this question. A 9.50 kilogram sample of ice at – 11.2 0C is heated to steam at 111.2 0C. Calculate the amount of energy needed to do this. [12 pts]
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